—_

CENTER LINE OF BENCH

RI74" ,
] RADIUS IS R165

~
N

NN

R156"
55 5/8"

" 1 TOP VIEW OF BENCH
Scale: 1/8" = 1"
R1 1/2°,
TYP.
L
3 ( \(
\* \— R1 1/2° TYP.
T JOINT
15 1/2" 15
1/2" J )
1/4" CHAMFER AT 81/4 |— 2 }—ELEVATION VIEW OF BENCH

BOTTOM OF LEGS

Scale: 1/8" = 1"

—1/2" SCH 40
REBAR

REBAR, TYP.

5/8"-11 BOLT, ITEM
#3, BOLT MUST BE

3/8" SCH 40

BOTTOM VIEW OF BENCH SEAT

Scale: 1/8" = 1"

(2) PCS OF 3/8" RE—BAR
WELDED TO BOLT

18" DIA |

TF5140 BENCH PART LIST
—| 11 5/16” DIA. ITEM NO. DESCRIPTION PART NO. Qry.
[ CONCRETE BENCH SEAT 1
2 CONCRETE BENCH LEGS 18" DIA. 2
3 5/8"11 X5 UNC GAL. BOLTS 2
4 5/6-11 X6' UNC_5.5. RODS 8

(1) 1 1/2" DA X 5 1/2"
DEEP POCKET CAST IN TOP
OF BENCH LEG, LOCATED AT
CENTER OF BENCH LEG.

TOP VIEW OF BENCH LEG

4 Scale: 1/8" = 1"
WELD BOLT TO REBAR .
3/8" SCH 40
| \ [ REBAR, TYP.
L S e T T
1 L
- R4 1/8" BT e e o
R3 7/8 [ Hom meM 45,
5/8'-11 X 5" BOLT
PLUMB WHILE CASTING
R2" BOLT CIRCLE 1/2" SCH 40
REBAR, TYP.
1/4" CHAMFER (3) 5/8'-11 UNC !
AT BOTTOM EDGE S.S. INSERTS ON 4 DETAIL OF BENCH SEAT ANCHOR BOLT CAST IN

DIA. BOLT CIRCLE 7

N.T.S.

BOTTOM VIEW OF BENCH LEG

Scale: 1/8" = 1"

I
u
Crtreichan

. . WED M 43, 5/8"-11 X 5"
(1) 1 1/2° DA X 5 1/2° gy BOLTS, CAST INTO BOTTOM OF
DEEP POCKET CAST IN TOP ™ crmaR BENCH SEAT, 2 PER SEAT
OF BENCH LEG, LOCATED AT N - -
CENTER OF BENCH LEG. —r 5 21/32

T
51/2"

15 1/2"

(3) 5/8-11 UNC S.S. INSERTS CAST
INTO BOTTOM OF EACH BENCH LEG

INSTALLATION: SET BENCH LEGS AT CENTER LINE LOCATION
FOR FOR 7'-0" BENCHES, CHECK CENTER TO CENTER OF
1 1/2" POCKETS TO MAKE SURE IT IS CORRECT.

MEM #4, (3) 5/8°-11 X 6", THREAD IN
BEFORE ANCHORING LEGS IN PLACE LEAVE CURE FOR 24 HOURS. FILL 1 1/2" POCKET WITH

GRADE LINE EPOXY, CAREFULLY PLACE BENCH SEAT WITH STUDS DOWN

2 ) ONTO BENCH LEGS, REMOVE ANY EXCESS EPOXY.
a ) . ..‘ s 4 <
- I g'

< .
e

FILL WITH CONCRETE AT =1

TIME OF INSTALLATION L
BY OTHERS BENCH SEAT CAST SMOOTH AND STAINED
~ o, BENCH LEGS CAST WEATHERSTONE
6 ANCHORING BENCH SEAT TO BENCH LEGS
Scale: 1/8" = 1"

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
Park Warehouse, LLC. 5301 North

Federal Highway, Suite 140, Boca Raton,
FL. ANY REPRODUCTION IN PART OR
AS A WHOLE WITHOUT THE WRITTEN
PERMISSION OF Park Warehouse, LLC.
5301 North Federal Highway, Suite 140,
Boca Raton, FL. IS PROHIBITED.

Sheet# TF5140




